
TOURING   RALLYE   RACING    TECHNOLOGY

01-044-0650-0 Anleitung Seitenständerauflagen-
vergrößerung R1200GS

September 2004

Lieferumfang:
1 x Seitenständervergrößerung bestehend aus:

Grundplatte
Zwischenplatte
Klemmplatte

4 x Schraube Senkkopf M5x16
4 x Mutter selbstsichernd M5
4 x U-Scheibe M5

Diese Anleitung ist nach unserem derzeitigen Kenntnisstand verfasst. Rechtliche Ansprüche auf Richtigkeit bestehen nicht. Technische Änderungen vorbehalten.

Sehen Sie auch in unserem Katalog oder im Internet unter WWW.TOURATECH.DE.

Grundplatte

Zwischenplatte

Klemmplatte

Kontrollieren Sie bitte 
in regelmäßigen 
Abständen die 
Federstärke der 
Seiteständerfedern, 
damit ein 
einwandfreies 
einklappen des 
Seitenständers 
gewährleistet bleibt! 

Beachten Sie bei der Montage der 
Seitenständerauflagenvergrößerung 
darauf, dass die abgeschrägte Ecke 
nach hinten, innen zeigt. 
Nur die Klemmplatte wird von oben auf 
die Seitenständerauflage montiert; die 
beiden anderen Platten werden von 
unten gegen die 
Seiteständerauflagefläche montiert. 

Montage



TOURING   RALLYE   RACING    TECHNOLOGY

01-044-0650-0
                    Installation Instructions
Side Stand Extension Plate R1200GS

Contains:
1 x Side stand extension plates:

Ground plate
Middle plate
Top plate

4 x Screw counter sunk M5x16
4 x Nzlock nut M5
4 x Washer M5

hese instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

Ground plate

Middle plate

Top plate

Check the strenght of 
the spring in regular 
intervals to make sure 
side stand stays up.

For Off-Road use it is 
recommended that 
the BMW rubber 
sidestand stop is cut 
in half to increase 
ground clearance.

INSTALLATION:
With the bike on the centerstand, and the 
sidestand down, position the ground 
plate with the "45degree corner" towards 
the inside rear.
Set the middle plate on the ground plate 
aligned similarly and set then the side 
stand in the middle of those two plates.  
Align the top plate and attach all three 
plates with supplied countersunk screws 
from the bottom.  Place the the washers 
and nylock nut on the top as shown on 
photos.

CUT CORNER -
INSIDE REAR

FRONT OF MOTORCYCLE


	Seite1
	Seite2

